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1108N059-2
ENGLISH VERSION

Instructions : (1) Figures to the right indicate Full Marks of the questions.
(2) Write answers of any three questions in Section-I and
Write answers of any four questions in Section-II.

SECTION-I

Answer any three of the following questions :
Do you agree with the view that market fails? If yes, then discuss reasons for it.

Give the meaning of private goods, public goods and merit goods and explain in detail its
characteristics.

Critically discuss the Arrow’s impossibility theorem.
Write a note on various voting systems.

Discuss the pure theory of public expenditure.
Explain the ability to pay principle.

Explain in detail the concepts of tax incidence.

Write a note on Laffer curve.

SECTION-II
Answer in short two-three line from the following (any four) :
(1) Whatis mixed economy?
(2) Whatis log rolling?
(3 ) Explain the concept of point voting.
(4) Whatis public expenditure.
(5) What is exterhalities?
( 6 ) Give the definition of income.
(7) Whatis exemption limit?
( 8) Whatis tax shifting?
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1108N059-4
ENGLISH VERSION

Instructions : (1) Figures to the right indicate Full Marks of the questions.
(2) Write answers of any three questions in Section-I and
Write answers of any four questions in Section-II.
SECTION-I
Answer any three of the following questions :
What is economic growth? Discuss in detail its affecting factors.

Critically examine the growth model of Meade.

What is technological progress? Explain the concepts of embodied and disemodied technical
progress.

Discuss the growth model of pasinetti.

Examine the review of Indian plans.

Explain the investment criteria in developing countries.

Explain infrastructure and its importance in developing economy.
Write a note on IMF,

SECTION-II
Answer in short two-three line from the following (any four) :
(1) Write any four assumption of solow model.
(2) Whatis development?
(3) Whatis stability with equlibrium?
(4 ) State the full foam of GATT.
(5) State the full foam of WTO.
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